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Pc=Pe*kd  Qc=Pc*tan (arccosd ) Sc=+/Pc’ +Qc’ Cos d=Pc/Sc
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HUTIE (Kw)

FTHIThE (Kvar)

MEINE (Kv A)

e Ml B o

Pc=Pe*kd=150*0.8=120

Qc=Pc*tan (arccos0.8) =90

Se=4/Pc® +Qc” =150

Pc=Pe*kd=100%0.6=60

Qc=Pc*tan (arccos0.8) =45

Se=4/Pc?® +Qc® =75

Pc=Pe*kd=120%0.7=84

Qc=Pc*tan (arccos0.8) =63

Se=4/Pc? +Qc® =105

NA IG5

Pc=Pe*kd=100*0.7=70

Qc=Pc*tan (arccos0.6) =93

Se=4/Pc® +Qc® =1164
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Pc=Pe*kd=100%0.7=70

Qc=Pc*tan (arccos0.6) =93

Se=4/Pc’ +Qc® =1164
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Pc=Pe*kd=210*0.9=189

Qc=Pc*tan (arccos0.8) =96.75

Se=4/Pc” +Qc? =2123
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Pc=Pe*kd=120%0.6=72

Qc=Pc*tan (arccosl) =0

Se=4/Pc’ +Qc® =384
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Pc=Pe*kd=100%0.6=60

Qc=Pc*tan (arccosl) =0

Se=4/Pc’ +Qc® =77
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Pc=Pe*kd=330*0.6=198

Qc=Pc*tan (arccos0.8) =148.5
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Pc=Pe*kd=130%*0.5=65

Qc=Pc*tan (arccos0.7) =66.31

Se=+/Pc” + Qc® =928
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Pc=Pe*kd=170*0.7=119

Qc=Pc*tan (arccos0.8) =89.25
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Pc=Pe*kd=100%0.7=70

Qc=Pc*tan (arccos0.8) =52.5

Se=4/Pc” +Qc’ =875
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Pc=Pe*kd=230*0.7=161
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=120.75
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Se=4/Pc® + Qc? =201.25
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Pc=Pe*kd=70%*0.7=49

Qc=Pc*tan (arccos0.8) =36.75

:

Se=+/Pc” + Qc? =61.25
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Qc=K 5 =1198.2kvar

Sc=4/Pc? +Qc? =1661.3

Cos & = Pc/Sc=1550.7/1661.3=0.9334
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BB Se=+/Pc? + Qc® =1661.3KVA

Sr.T =~ (0.6~0.7) Sc ~ 0.7*1661.3KVA=1162.91KVA
Fit, FEEER/PAEEN 1000KVA
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